
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

4848 × 0.1 = ________ 1462, 4 × 0.1 = ________

2544, 4 × 0.01 = ________ 9762, 6 × 0.001 = ________

7083, 9 × 0.1 = ________ 8728, 1 × 0.0001 = ________

3479, 8 × 0.0001 = ________ 3941, 6 × 0.01 = ________

6191, 2 × 0.1 = ________ 9239, 7 × 0.001 = ________

3938 × 0.0001 = ________ 5925, 3 × 0.1 = ________

4377 × 0.1 = ________ 6376, 4 × 0.01 = ________

1789, 6 × 0.01 = ________ 1635, 6 × 0.0001 = ________

5919, 3 × 0.01 = ________ 9104, 3 × 0.01 = ________

7407, 8 × 0.1 = ________ 4989, 9 × 0.001 = ________
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